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A\

(A) Public Expenditure
(B) Direct taxation
(C) Open market Operations

(D) Subsidy control

@ What does "Parallel economy" refer
'

to?
&A) Black money circulation
(B) Increasing exports
(C) Agricultural subsidy
(D) None
3.
=
in developing economy?
"}e) Unemployment
(B) Industrialization

(C) High savings

/(,D)"ATI of the above

Which issue is directly linked to in-

/ dustrial sickness?
\ (A) Lack of labor
O }Bﬁ‘ Mismanagement
,‘\C} Surplus production

(D) High exports
3044\A\2024-25

Which is a tool of monitory policy?

What is the main problem of growth

(C) 3= §4d

(D) Iwes Wit

stk SR A Hren dea fHE w0
T 8?

(A) it & i

(B) THaeA

(C) 3iftrdm IcureA

(D) I Frafa .
P.T.0.
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@ what.is a key indicator. of Industﬂal

" sickness? |

_ ]S«A) High profit i o
(8) How mmpetitin? . Q
(C) Consistent lesses .
(D) All of the abeve -

5 What-eeeéj fiscal Ep'elit:? ;'Eél-.lll?.:l-EE? =

% . (A) Supply of money fay

@] Gevernment expenditure and
taxes

(C) Interest rates - .- o Q

(D) Foreign exchange

A \ _“1 ]
What is Ba!ance of payrnent?

?7// _

(A) A ceuntrys ecenemlc growth

(B) Government's tax revenue
@(C} National inc_:em_em':_'.liv\ided by
ponulation - e
1oy Record of all economic eransac-
tions with other countries
Whlch IS a component of money sup-

ply?

_}) National income -

2 \\ '“"‘"Z

(B) Demand deposits in banks

(C) Tax revenye

| (D) Government expenditure
44\A12024.25
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7. N Ager ar @2

(B) Waaﬂmﬂa |
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& Rerd '

8. T oY &1 vw wew wr 2o

() < amy
(B) &as‘rfr%m-s-%m%a
(C) T AT

(D) Wt wg

https://www.rmpssuonline.com


https://www.rmpssuonline.com/

9.
7

10

7
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What is M3?

Which form of rnl:me.\,r is highly lig- 9,
uid?

(A) Fixed deposits

(B) Savings Accounts

(C) cCash

(9») Bonds

What does "L" in 1S-LM Mode! stands
for?

(A) Loanable funds

(B) Labor market

(,C] Liguidity preference

(D) Loss minimization

What causes a BOP surplus? 11.
(A) Exports exceeds imports
(B) Imports exceeds exports
{F) Depreciation of money
(D) Decreased investments
12.

(A) Only Cash

(B) Deposits in foreign banks

(9 Currency+De.mand deposits+-
| time deposits

(D) None (5]

10.

aﬂqmgmﬂmmyﬁﬁaﬁ%?
(A) Tthaee Rdffoe

(B) o @i

(C) &=

(D) &8
mw-nﬁmﬁiﬁﬁ"ﬂa"amﬁ??

(A) TIEE TS

(8) dw T

(C) fafafRd Bress
(D) = fufsmgare

Wﬁwmawwé?

(A) Frafa smamE ¥ HE® &
(B} 3mam Frafa @ fta &
(C) T & FH
(D) fFaw i &0

oH 3 a1 8P

(A) TaA B

(B) feh &1 & s
fC) ET+a SE+TRH RS

(D) B 7 |
P.T.O.
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4o
13. What does the current account in
& BoP includes? -
(A) Foreign investments
{B) Government debts
(C) " Real Estate transactions.  °*
{D}~Trade of goods and services
- 14, What does rnonetar'y policy regu-

'/late?

( Tax rates
(BY Supply of money and interest
) rates

(C) Employment levels

(D) Fiscal deficit
15. Which of the following is not a com-
7 .ponent of aggregate demand? &

(A) Consumption

(B} Investment

);] Government spending

(9\) Savings |

1}6/, The study of the economy as a whole

7
\

is known as.

(A) Microeconomics

LB) Macmeconomics

(C) International economics
(D) Public economics

30441A12024-25

(7

14, e Hf Far Pl s &2

(6]

13. WWEmmﬁwwﬁaé‘f
- (A) el P | _ "
® wﬁm o

(C) ﬁuamtvﬁé# |
(D) g3 3R a3 &1 UUR

(A) @R

(B) o R amad | -

(C) IR TR -\

(D) ISTPNT 9T

15. F=fofea § 3 & oo win & ves T8

2l

(A) 3usii

(B) fger

(C) B =T
(D) sTd

16. Wmmm%ﬂ%mﬁ

ST Sirar &

(A) G&x srefem

(B) J=a srfeme

(C) =R srefames
(D) wrda® srfere
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1:?- Iil'lm ' . [Ty
// Macro economics the term ag

gregate demand" refers to,
BN B P

(A)
. R
®) o

()

(D)

18. A decrease in taxes will most likely

K2

Cause.

Total demand for goods and
Ty ’

services in an economy .

. .
service '

Demand for capital goods

Demand for Imports

}5)' An increase in aggregate de-
mand |

(9) A decrease in aggregate de-

| ménd

(C) .No change in aggregate de-
mand

(D) An increase in the unemploy-
ment rate |

19. Fiscal policy involves changes in

//’
/ (A) Interest rates

(55) Taxes and government spend-
@ ing

(C) The money supply

(D) Exchange rates

30441A12024-25

Demand for a specific good or

17,

18.

19.

-Eﬂ?ﬂ%l R
(A) mﬁwmmﬁ

Pl qn |
(B) it frdry gy ar ar &t 7 '

(0 gsﬁuma-\fgaﬁa?mm

(D) 3maTd B W

&1 B ga aftie T &
(A) o am # Fi&

(B) o1 At F A1

(O gfmhjﬁaﬂéqﬁaﬂqaﬁ

(D) W ¥ o

TN AT A e akada gar 21
(A) &M= &
(B) &< 3R THRI @

(C) ¥z 3y
(D) RfmR
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20. Monetary Policy Is Primarily con-
"'// “ cerned with, '

(A) Regulatlon of ﬂnanaal institu-

~ tions

: @ (/ycuntrol of the money supply

- and interest rates

(C} Tax collection and government-

expendlture |

(D) Trade policies and tariffs
21. Unemployment'caused by a lack of
’;_ demand for goods and services is

Called.
ZC (A) Structural unemployment

(B) Frictional unemployment

(C) Cyclical unemployment

(9) Voluntary unemployment

;-7 The Philips curve shows the reiatlon-

F ship between.

J,A) Inﬂa.tion and unemployment
@ (B) GDP and interest rates
(C) Tax rates and government rey-
enue
(D) Exchange rates and trade bal-
ance
’{;j Which of the following is an example
/, of fiscal policy?
(A) Reducmg interest rates
A

(B) Increasing government spend-

ing
,(,(?) Controlling inflation
¥ (D) Regulating
3044\A\2024.25

- 20.

21.

22.

23.

(A) ﬁ?ﬁvw‘“’fﬂ"'a"'“
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(A) Heowifer 3R R
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E
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24, mhmmmmm

) Control th I e
€ money gy /
, Pply,) (A) 3mgfes -y ﬁﬂﬁ‘ﬂa BT -
0 ) Regulate Tax rates o (B) ::Taﬁ m‘r %ﬁuﬁam '
C o ' . ! .‘:I '
(© Momtor government SPending - () ?REET{T @"':i aﬂ ﬁm m
Manage pupjjc debt Yo (D) ‘ﬂﬁaﬁaﬁmﬁ' ““‘:‘ E'“ "

25.. What is the prlmary»goal_ -of. Sup: 25, aq%qmaﬁmasrmmﬁlﬁﬁaﬂmgi

(A) ORI @ B Fgrr. -

ply-side ECOHOH"IICS?

\'t
™

(A) Increase government spending

(B} Reduce Inflation ™ - . ... o (B)  HETRDIT B BT BRAT o (h
(C) Reduce Taxes arid Fesuratmn - (C) R 3R fafram B 3w e
(D) Increase consumer demand ) (D) T W B g - ¢
. t : S S s
26. A budget deficit occurs when. : 26. El?ﬂa' el ﬁ ?‘THT %l Y

(;)— Government revenues exceed

expenditures

7\ (B) Government expenditures ex- " (B) woRoa Ted 9 s A
ceed revenues © . 3 3 Qe &1

(C) Exports exceed imports
(D) mana Fafa ¥ st 2 gl

(A) TR Toika =a F e e &l

(D) Imports exceed exports
27. The balance of Payments includes. 27. A Fe o enfive &
(}3/ current Account and capital ac-

J‘ count (A) = @ 3R S @
(B) Government budget and fiscal
deficit (B) ORI §31¢ 3R IRy wrey
-(C) Domestic investments and for-
eign investments (C) e e sik fdeht fder
(D) Tax revenue and public expen- e
diture .. + (D). B T SiR Wi

044\A12024-25 [9]: CINTRTO,
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28. The natural rate of unemploymentis  »g. mqsf%ﬁﬁ mm'& = ﬁﬁ‘ﬁi 184 ﬁﬂfﬁﬁ

/detem'l'“Ed by. e Eﬁﬁlﬁf?i e
(A) Cyclical factors -+~ .. (A mm
(Qf Structural factors R (B) Wﬁﬁ BRE -
(c) Fnctlonal and structural fa:r.;tcrs = (C) Erbfu'nrﬂai IR TEATHS FR®
(D) Seasonal factors (D) = D .

29, Which of the following is an’ auto. 29, ﬁmﬁiﬁaﬁﬁ%ﬂq%ﬁﬁﬁm

matics stabilizer?

(A) IR gid R WY @

(A) Government spending on infra-

structure o O

(B) Progressive income tax . (B) wnfyeder B a '
(?/centra! bank'’s interest rate pol- (©) e &m o 7 se . 4
icy :
(D) Trade tariffs (D) MR e |
30, Which of the following is not a tool of 30, Frefafea % & ot o ﬁ% T IGHROT
/ monetary policy? @ T2l 2
(A) Open market operations (A) 3o mhe 3ﬁq%s1:ﬂ \
) _(B)- Discount rate (B) e ¥ i
(C) Reserve requirements (C) Rf&T smasasamy |
(}kTax rates (D) &R ‘ f‘\i
ll,/T‘he laffer illustrates the relationship 31. AR % foads da g @y Zorar %I L !
between. "
(A) Tax rates and tax revenue (A) BRI 2% e
~_L{BY¥ Inflation and unemployment (B) HaERwIf 3tk SRy , |
(C) Government spending and eco- e a
nomic growth (C) W™ 4 3R s ey ;
(D) Interest rates and investment (D) =31 =% 3tk Py
\A\2024-25 [10]
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32 Deﬂatlon Is defined as.-
}éﬁ) A decrease in the generai price

Ievel of goods and sewlces

LLLLL

;%) An Increase in the general price

Ievei of goods and servlces

Y }l'

(C) A decline in the value of a coun-

try's currency.

(D) An increase in the value of a

/

33. Which of the following is a charac-
4

teristic of a recession.

country's currency.
~.

(A) High GDP growth-
‘_{,B) Low unemployment:
ﬁ Decline in economic activity |
| (D) Increasing inflation
34. In macroeconomics the term 'multi-
,// plier effect’ refers to.
(A) The expansion of a country's
monetary base
(B) The increase in final income
71 arising from any new injection
of spending.
P,- The increase in tax revenue due
7t higher tax cates. "

(D) The impact of interest rates on

investment.

30441A12024-25

32,

34.

[11]

Eﬁlﬁlﬁ’l as‘r trﬁmﬁa faar mram &1

| (A) wﬁmmwmqmw

¥
(B) ﬂﬁsﬁmﬁz#mﬁaswﬁﬁ

3 ?z'??s-'
(C) R i ot 3 5 e ¥ P

(D) im A s g A ofs

33, T o s Freren # & 3 21

(A) o5& @ gfx

(B) R R

(C) m&iasq%%ﬁm?ﬁﬁmaa
(D) Farewbifer # gl

‘g srfere § oI WWE I B Al

gl

(A) T&=0 aer & Har 3maR & faaR

(B) @d & HA v soigem § IT
A~ I | g

(C) Fea R} & BT 3R <Iored & g

(D) &S & $T (a9 W w9
| PTO.
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| | & form R &5
' 35. What is the primary tool used by the 35.

' ' .
central bank to manage inflation?

(A) Fiscal policy

(B) Interest rate adjustments
\/ ~ |
" (C) Trade Tariffs

(D) Government spending

36. Stagflation is characterized by:

7

(A) High inflation and high unem-

]L_ ployment.

(B) Low inflation and low unem-

ployment

’{%High GDP growth and low infla-

tion
(D) High inflation and high GDp

\ growth

i :
37. Which indicator js used to measyre
,;,

the overal| economic output of g

?J\\ country?
\

. (ﬁ) Consumer price index
’}/5} Gross domestic product

(C) Unemployment rate

(D) Interest rate
30441A12024-25
[12]

36.

37.

https://www.rmpssuonline.com

—y

g i foat T AT S ey |
a1 2l - \_' i
(A) o B
(B) mﬁm@m
(C) MR e
(D) WERI &d |
e o) Rda 21
(A) mgﬂﬁﬁ%&ﬂ?ﬁaﬂamil 1]
| |
(B) = geradifiy 3k Fre adsmdy
(C) mﬁﬁ&rq@raﬂ?ﬁmﬁaﬂwﬁ%}
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57w 1 Py waren & s g Wit T

"3 The Iav;.r.of demand states that all = 133,
 alse béing equaf;. a's"the price of a Eﬁlﬂ mmﬂ@mﬂ|
good increases. ' . | 5 : - ' |
o o (A) w7 A age &
(A) Quantity demanded Increases
. SR . (B) W\ ¥ wrr wed @

{B) Quantity demanded decreases |
: | C

(C) Quantity supplied decreases - (© Wgﬁa?lﬂmmﬁ’l% |

(D) Quantity supplied increases (D) smff S g d

39.Iﬁ:=|1%1ﬁ§aﬁ%aﬂ=rvaaqﬁna=ﬁﬁ

39. Which of the following is considered

a supply side policy? T 3 &
(A) Increasing government spend- _ _
| | (A) TReR & ¥ gfg
-ing .
| (B) & H dekir

(B) Cutting taxes
(C) =1aT &I B g

(C) Raising interest rates
(D) Increasing tariffs

40. Who wrote the  book "General 40.

e
theory of employment, interest and HEE Wﬁﬁi‘ Rt 2
money"?
(A) veH oy
(A} "Adam Smith
/\-/ O (B) W. 3. vA. B
}) Prof. J.M. Keynes .
(C) Prof J.N. Keynes (C) .3 T B
(D) Alfred Marshall (D) s Areld
D44\A12024-25 [13] PTO
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: 5 g TS wad
_ }-r-‘/lf,'l'he term microeconomics and mac- 41, @NR ,3"% 3::?\ | R
roeconomics were ﬂrst given by- : ﬁ’_ﬂa’ ani e C |
‘Adam Smith C(A) T fE o
(B) Prof .M. Keynes o (B) | R
(C) Regner Frisch () W ¢ . | ‘_
(D) Alfred Marshall , (D) 3HE - -

42. The book "General theory of .em- 42, AR A 3R o o i. l
ployment, interest and money" was meﬁmé U |
published in (A) 1836

| (A) 1836 (B) 1936 'i1
(B) 1936 1
1963 |
(C) 1963 (© . |
(D) None (D) o T
43. The term 'macro’ has been derived  43. ‘¥ wie @ Ffy gl g
// from | | | .
(ﬁ} Greek word 'makros' mean (A) W o= Ao B 3 /i g .
large o
- 2‘
(B) English word 'makros' mean (B) 3T & AN v a7 2 LEI
large el
(C) Greek word 'makros’ mean (C) Mo oI wiora &7 3ref &) wey -'i
small !
(D) French word 'makros' mean (D) 9 o= WP &1 5 | @y |
large |
44. What are the tools of -
/ macroeconom- 44 wfe 3RIRIe & JawoT a |
ics?

(A) Monetary policy A) Hifss Dy

\ (B) Fiscal policy (B) oAy e .
(C) Income policy (C) 3ma By |

(D All of the above (D) 39Yes it
D44\A12024-25 [14]
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1118 study of . .
¥ group and bmad 29~ 45, sptemen @ wiE AR @€ wgEd P

// g,-eg;ates of the eccm«:mm}.r is known

s . f S
@(A) Microeconomics FAE (A) ;qaa:r ST

{/B.»)-/ Macroeconomics | .(E-” mw |

(C) International economics (C) FeRiga srfeaawn

(D) None | - (D) T T
4 Which of the following is a method to ~ 46. Frmforiaa # P & s g W

measure the national income ¢ 1 fafer & .

(A) Expenditure method (A) =g faftr
?L{B) Income method -~ (B) sy fafer

(C) Product method (C) Jaurz fafer

(D) 3G T

{}a" All of the above

). What is the consumption of fixed 47. Wﬁﬁiaﬂﬁsmmaﬁamaﬁrmél

F
r

capital known as? (A) Hoag™
(A) Depreciation .
i ! (8) T3t fmfor
%/Capitai formation
(C) Faw
){C] Investment /
D Tl
(D) None (©) = -
P.T.O.

WIA12024-25 [15]
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48. Which of the following is included In
7y the national income of a country
(A) .R-ent
(B) Interest .
(C) Wages | -
}Df Rent, interest, wages, ‘sérary,
profit,
49. Which one of the following options s

/ not an example of indirect tax?
@

50. What happens during inflation?

(A) Custom Duty

/(P) Estate duty
(C) Sales duty

(D) Excise duty
/| { (A) The value of money increase

51. Who measured the first national in-

S'Bf The value of money decrease
(C) Both

(D) None

// come of Indig?

) (ﬁ) Dadabhai Nauroji
(B) William Digboi
(C) V.K.R.V. Rao

(D) None
044\A\2024.25

[16]

48, ﬁm%ﬁia.ﬁ#ﬁaﬁamaﬁwmﬁ"

- . eTifrer R I &1
(A) frrar
(B) =St
(C) Wy
(D) Taran, aama. waig, I, @

49, ﬁmﬁiﬁaﬁﬁaﬂ:{ﬁﬁaﬁ&maaﬂ ‘

T I2TER0T e &

- (A) g

(B) WU s

(©) 5 g

(D) 3O e

50. HaRefT & Rm @ @

(A) &R B g wgar &
(B) % & o wear 2
(C) amr

(D) =% =@
31. R 3 veelt g s feey o o
(A) =1a1 wig SRSt
(B) faferaw femad
(C) 9. &. 3. . <

(D) & =&

{ https://www.rmpssuoniine.com
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s2. Which one of the following Options Is

// the example of seml-dn::rable goods?

(A) Petrolk
(B) Milk e

53. Which of the following are the fea-

#
l{ures of the money market?

}M/ Highly risky
(B) Unsecuréd instrument
(‘)?4/ More than one of th.e above
(D) None
// Devolution of money means
(A) Decrease in internal value of
money --

{B) Decrease in the external value
7( of money
(9/)’ Both

55. Name the policy that accords with
- expenditure and taxation policies

%

decision of the government? 0

7L (A} Monetaiy policy
)&ay Fiscal policy

(C) Trade policy

fyml of the above
3044\A12024-25 [17]
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52. ﬁm%ﬁaa # ¥ gl f%am 34&‘
R aeqat o sz 21
A) ¥a
(B) 3@ o o
() War -
(D) oo
53. ﬁm%ﬁaaﬁﬁgmma%ﬁﬂmm
gl
Ay st e
(B) 3RRfewT wrerT
(C) AP o
(D) @ 7

54, ¢ gxaiaRor &7 3 ¥,
(A) o % FaRks Ied § T
(B) &M ¥ o qeg A oA
(C) &=l
(D) g &

55. 39 Hifd & 99 gaEe A WER $ A

3R @xrem= it & fofa & sree 2
(A) Tifgs =i
(B) st Hif
(C) =R A
(D) 3ug Tl
PT.0.
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56, Who lead the goods and services tax
or the GST tax of India?

(A) President

@(B) Pﬁme minister

F‘nance mlmster
(D) All of the above
57. From which year did the mérged rail-
v

way and generai budget start?

(A) 2017-18

)( (B) 2018-19
. Jﬁf 2014-15

(D) 2015-16
58. Which one among the following is a
tool of fiscal policy?

} ~ (AY .Government research
@ (B) Election
: (;}/‘faxation :
(D) None

59. John Hicks developed the IS-LM

.;:' model in which year?
(ﬂ/f935
(B) 1884
(C) 1948

(D) 1956

3044\A12024.25 (18]

56. mﬁ-mﬁﬁmmtemym@a,
Camhd -

- 57,

58.

59.

TH JYBT 2

N

A Tl
(B) WA o

o
gl |
(A) ‘2017-18

(B) 2018-19

RS S W

(C) 2014-15
(D) 2015-16

Pr=ieias # & @ w1 TS S @

(A) TRSRI 9orer

(8) g™ ]
(C) &= & %
1

(D) &1 =g

(A) 1936
(B) 1884

(C) 1948

(D) 1956

https://www.rmpssuonline.com
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o

60- An example of transfer. payment Is
. “*// %Dld age funds
(B) Dlsabllity _fynds B
(Cj Unemplb?ment penéﬁts |
WAII of the abovél
y Credit risk refers to a bon'd's |
(A) Probability of default - |
(B) Price-earning ratio q
" (C) Dividend
TBY_All of the above

62. A financial intermediary is a middle
74

man between?

(}{ Buyers and seller

:q\) (B) Labour unions for firms
N . :
( rrowers and nrms

(D) None

s

63. The opportunity cost of growth is?

urrent saving
(})( Reduction in €

t consump-
(y*

(C) reduction in

Reduction in curren

tion

taxes
(D) None

3044\A\2024-25

60. W@mﬂmmmﬂ?i
(A) Famaeen
-(B] T ffer
(C) R S T

(D) 3ugeH Wl
61. FHURTI
| (A) Rieg B HIE
(B) e 3T FYTE

62. faii
(A) par 3R T
(B) Al & fore D WY
(C) Jaraa 3R H
(D) BT

63, T o FaER amd 2l

(A) g aa A oA

(B) A aud §
(c) axdF

(D) B T

[19]
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?. With an increase'ln the salary the

slandered of leng Is hkely to- |
(A) Stay the same
@ '9}( Rise

(C) Decline
(D) Not related

65. What is the cir

cular flow of income?
Vs | o

(A) Flow of goods only

@ {E)A:Iow of money and goods

(C) Flow of exports

(D) Flow of savings only

66. Which is no
{

t part of a four-sector

economy?
f\ (A) Household _

(C) Government

gp} Banking

67. What causes injections in the circu-

lar flow?
%axes

\% Savings
(C)

Investments

){

(D} Imports
3044\A12024.25
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4. éaqﬁaﬁr:ﬂfmﬁ“mﬁﬁw

65. 3T BT THrY JaTg a1 82

66.

67.

(C) Frafa o yamr

(D) df

ﬁ'—’ta?mwraﬂrﬂf\af?' .
" ﬁﬁﬁ'm_ o - * 1
(8) T -

© frem . 4
(D) it

]
(A) Shad TR & TEE {

(8) # 3R g T T

(D) aeT g9 &I yaE

i
: 1
maﬁuw&mmtfﬁﬂm"ﬁﬁ?g

(A) R
(B) wH

S

(C) WRaw

SRR pere =R S

aaﬁunmgﬁgaasmaﬂaﬁmwé?

(A) &=

|
]
!
}.
(B) suq :

(C) Fawr

(D) I
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I
5b
what does "leakages” in the econo- g, arfzaver § "R @1 @ar 39 27
my represent? |
nte e (A) &=d, 3@ SR @
Savings, imports, and taxes |

(B) Frafa sk e
g% Exports and investments
(C) Government expenditure © aa
(D) Consumption’ R (D) @Ta

g9, Which sectors are involved in a 69 -8 amefaawen 3 war e &2 |

// two-sector ecﬁnom I ' - ' Yo
4 v (A) ©H 3R SR
(A) Firms and government | -
| (B) w3k oA
}ET Household and firms _
(C) Household and foreign © Eﬁﬂ&ﬂ?
(D) Government and foreign (D) WIBR i feet .
70. Which method measures national in- 70 RIE 3T Bt et JqTE B Az ¥ A=
% come through total production? o B A fafer 22
}M/Income method (A) 3ma faftr
( (B) Expenditure method (8) = faf
(C) Output method (C) Jeure fafer
(D) g fafer

(D) Savings method
71, HRA A I 3T AT DT ST GHR

71. What is the major issue in measur-

ing national income in India? Far #?
(A) Lack of data (A) STTH H
(B) Double counting O (B) QE OrT
/g{zf Inaccurate taxes ! (C) TR AR
}D’)’ Inflation rates (D) gﬁl’ﬂ%ﬁfﬂ
3044\A\2024-25 [21] P.T.0.
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72, What does GDP s T
-{/ tand for .
(A) General Domestic Product

(B) Government Domestic Product

@ (yGross Domestic Product

(D) Gross Departmental Product

73. Which of the following is a method to

Vi

estimate national income?

@ (A) Taxation method

}BJ/ Income method

(C) Investment method

(D) Depreciation method
7; What does CSF stands for?

(A) Critical Savings fund

@ (B) Common Supply Factor

(C) Consumer Spending Factor
( ?( Critical Success Factor

75. What causes structural unemploy-

4
ment?

Masonal changes
)( (B) Lack of skills

(C) Low savings

(D) Tax polices

3044\A12024.-25 [22)

72. GDP @1 X1 ¥ T4 &7

73.

74,

75,

() e Efes Mex
(8) marz e wewT
{c)”zﬁ?rs\'ﬁrﬁwm

(D) wf?ﬂﬁwﬂ"ﬁ

3 3 olg @ fafu &2
(A) = faftr
(B) ama fafyr
(C) Fder fafér
(D) e faf

f

CSF &1 [T 7 F7 &7

(A) foicea A wos

(B) @M+ Awes thaex

(C) o |ifgm haex

(D) foieewa gy hax
RS SRGRIRY BT HROT F47 &2
(A) A e

(B) Dlere & &t

(C) @¥ gud

(D) ax i
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